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4. NOD(Nitrogen Oxygen Demand)
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10. & MA2M(0Oxygen Sag Curve)
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6. SURHRX QXX QA 8A| L 9A|Q STVFRYXRO| BOD =55 5L 2.
-2 7 A0l RERYRIHHJULDO0 m?), B FF2 1,106.25m3*/hr &
AlZH 0 1 2 3 4 5 6 7 8 9 10 1
Q2 mihr | 990 | 792 | 594 | 468 | 378 | 360 | 432 | 738 | 1.278 | 1.476 | 1,530 | 1,548
=
B%%/TE 150 | 115 | 75 | 50 | 45 | 60 | 90 | 130 | 175 | 200 | 215 | 220
AlZH 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 22 23
S22 mi/hr | 1,530 | 1,458 | 1,386 | 1,260 | 1,170 1,170 | 1,188 | 1,314 | 1,440 | 1,440 | 1,368 | 1,242
=
Bon?g/C’LE 220 | 210 | 200 | 190 | 180 | 170 | 175 | 210 | 280 | 305 | 245 | 180
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